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1. Find the equation of the line perpendicular

to the line 3z +4y+6 =0 and making
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intercept —4 on X-axis.

o Watch Video Solution

2.If the product of the intercepts make by the

straight line
7r

rtana + yseca = 1, (O <a< E)’ on the

co-ordinates axes is equal to sina, find a.

° Watch Video Solution
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3. If M(a, 8, ) is the mid point of the line
segment joining the points A(z1, y1, z1) and

B then find B.

o Watch Video Solution

4. Find the equation of the plane passing
through the point (2,3,4) and perpendicular to

the x-axis.

o Watch Video Solution
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5. Find

Lt (msina—asinax)

r — a r —a

° Watch Video Solution

Lt sin(a + bx) — sin(a — bx)

6. Find
n rz — 0 T

o Watch Video Solution

2 2
7. Find the derivative of log(a3 TrT )

r? — 1 + 2

w.r.to x.

o Watch Video Solution
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d
8.Ify = (cot_1 :1:3)2 then find d—y
x

° Watch Video Solution

9. Find the approximate value of /17

° Watch Video Solution
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1. Find the equation of locus of a point which

is at a distance 5 from A (4, - 3).

° Watch Video Solution

2. When the origin is shifted to (-1,2) by the
translation of axes, find the transformed

equation of 2z® + y* —4x + 4y =0

° Watch Video Solution
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3.( —4,5) is a vertex of a square and one of
its diagonals is 7Tx —y+ 8 = 0. Find the

equation of a the other diagonal.

o Watch Video Solution

Lt 2 —sinz

4. Evaluate
r— 00 x2—2

° Watch Video Solution
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5. Using first principle, find the derivative of

log,  where z € (0, o).

° Watch Video Solution

6. The volume of a cube is increasing at a rate
of 8 cubie centimeters per second. How fast is
the surface area increasing when the length of

the edge is 12 cm?

o Watch Video Solution
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7. Find the equations of tangent and normal

to the curve xy=10at (2, 5)

o Watch Video Solution

1. The base of an equilateral triangle x +y =2 =

O and opposite vertex is (2 , - 1). Find the

equations of the remaining sides .

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6NVbmtYwKbQ
https://dl.doubtnut.com/l/_1Fu0lbfOCIHP

2. Show that the lines
(+22)°—3y2 =0,z =a form an

equilateral triangle.

o Watch Video Solution

3. Show that the following equations
represents a pair of parallel lines and also find
the distance between them.

Show that the equation

8z — zy +18y* — 6z +9y —5=0
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represents a pair of parallel lines and find the

distance between them.

° Watch Video Solution

4. If (I1, mq, n1), (I, my, ny) are d.cs of two
intersecting lines, show that d.c.s of two lines
bisecting the angles between them are

proportional to l; + Iy, my + mg, ny + no.

o Watch Video Solution
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5. Show that the derivatives of

T — T —
-1 Btam_1 P
a—pf a—x

sin are equal .

° View Text Solution

6.Find the length of subtangent, subnormal at
a point on the curve

x=a(cost+sint), y=a(sint-tcost)

° Watch Video Solution
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7. Find two positive integers whose sum is 16

and the sum of squares is minimum.

o Watch Video Solution
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